[image: image1.png]1. Let f be an entire function such that | f ()| < A(z] for all z, where A is a fixed positive
number. Show that f(z) = a,z, where 4, is a complex constant.
Suggestion: Use Cauchy’s inequality (Sec. 49) to show that the second derivative
f"(z) is zero everywhere in the plane. Note that the canstant My in Cauchy’s inequality
is less than or equal to A(|zg] + R).




Cauchy’s inequality:

[image: image2.png]Lemma. Suppose that a function f is analytic inside and on a positively oriented
circle Cp, centered at zy and with radius R (Fig. 67). If Mp denotes the maximum
value of | f (2}| on Cp, then
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Inequality (1) is called Cauchy’s ineguality and is an immediate consequence of
the expression
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